International Journal of Algebra, Vol. 11, 2017, no. 6, 283 - 285 HIKARI Ltd, www.m-hikari.com https://doi.org/10.12988/ija.2017.7730

Lie Triple Derivations of the Nilpotent Subalgebra of D_m

Hailing Li¹ and Ying Wang²

¹ School of Mathematics and Statistics Shandong University of Technology Zibo, 255049, China

² School of Science, Dalian University of Technology Dalian, 116023, China

Copyright © 2017 Hailing Li and Ying Wang. This article is distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Abstract

Let g be a complex simple Lie algebra with Cartan subalgebra h and standard Borel subalgebra b. Put n = [b, b]. In this paper, we describe Lie triple derivations of the nilpotent subalgebras n for the classical Lie algebra $D_m(m \ge 6)$ over the complex number field C.

Mathematics Subject Classification: 17B30; 17B40

Keywords: Lie triple derivations; nilpotent subalgebras

1 Introduction

Let C be the complex number field and g a simple Lie algebra over C with Cartan subalgebra h and root system Δ . Fix a basis $\Pi = \{\alpha_1, \ldots, \alpha_n\}$ of Δ , let Δ^+ (Δ^-) denote the positive root set (negative root set). Then $b = h \oplus \sum_{\alpha \in \Delta^+} g_{\alpha}$ is the standard Borel subalgebra of g and $n = [b, b] = \sum_{\alpha \in \Delta^+} g_{\alpha}$ is a nilpotent subalgebra of g. Denote the height of the root α by $ht\alpha$.

Definition 1.1.^[1] A linear mapping $\phi: n \to n$ is called a Lie triple derivation if it satisfies

 $\phi([[x,y],z]) = [[\phi(x),y],z] + [[x,\phi(y)],z] + [[x,y],\phi(z)], \quad \text{for all } x,y,z \in n.$

Clearly, Lie derivations are all Lie triple derivations, while the converse may not be true.

Recently, many studies have been done in Lie derivations of matrix algebras and their subalgebras (see [1]). And they use matrices commutation to obtain many equalities. However, it is difficult to find such equalities for D_m . As $0 = [g_{\alpha}, g_{\beta}]$ for $\alpha + \beta \notin \Delta$, in this paper, we use root system to obtain some equalities and simplify the image of ϕ on n of the classical Lie algebra D_m , which generalize the arithmetic of [2].

It is obvious that the nonzero root vectors in g_{α} with ht $\alpha = 1$ are generators of n, if a Lie triple derivation $\phi : n \to n$ satisfies $\phi(g_{\alpha}) = 0$ with ht $\alpha = 1, 2$, then $\phi(g_{\alpha}) = 0$ for all $\alpha \in \Delta^+$. Our main idea arises from this.

2 Main results

For $g = D_n = SO(2m, C)$, it is well known that

$$h = \{ \operatorname{diag}(x_1, x_2, \dots, x_n, -x_1, -x_2, \dots, -x_n) \mid x_i \in C \},$$

$$\Delta = \{ \pm (\lambda_i - \lambda_j), \pm (\lambda_i + \lambda_j) \mid 1 \le i < j \le n \},$$

$$\Pi = \{ \lambda_i - \lambda_{i+1}, \lambda_{n-1} + \lambda_n \mid 1 \le i \le n - 1 \},$$

$$\Delta^+ = \{ \lambda_i - \lambda_j, \lambda_i + \lambda_j \mid 1 \le i < j \le n \},$$

$$g_{\lambda_i - \lambda_j} = CA_{ij}, \quad A_{ij} = E_{ij} - E_{n+j,n+i},$$

$$g_{\lambda_i + \lambda_j} = CB_{ij}, \quad B_{ij} = E_{i,n+j} - E_{j,n+i},$$

where $\lambda_i (\text{diag}(x_1, x_2, ..., x_n, -x_1, -x_2, ..., -x_n)) = x_i, \ 1 \le i \le n$. Then

$$n = \sum_{1 \le i < j \le n} g_{\lambda_i - \lambda_j} + \sum_{1 \le i < j \le n} g_{\lambda_i + \lambda_j}.$$

Firstly, we give four types standard Lie triple derivations of n, which describe any Lie triple derivation of n. They are defined as follows:

- (1) Inner triple derivations: Let $x \in n$, then $adx : n \to n, y \mapsto [x, y]$ is a Lie triple derivation.
- (2) Diagonal triple derivations: Let $y \in h$, then $\eta_y : n \to n$, $x \mapsto [y, x]$ is a Lie triple derivation.
- (3) Central triple derivations: If $m \geq 6$, let $\xi = (\xi_4, \dots, \xi_{n-1})$, where $\xi_i = (k_i, l_i)$, $k_i, l_i \in C$, $4 \leq i \leq n-1$, $\zeta = (\zeta_1, \dots, \zeta_{n-2})$, where $\zeta_j = (k'_j, l'_j)$, $k'_j, l'_j \in C$, $1 \leq j \leq n-2$, $\theta = (p_2, p_3)$, where $p_2, p_3 \in C$,

$$\vartheta = (q_2, q_3)$$
, where $q_2, q_3 \in C$.

Define a linear mapping $\mu_{(\xi,\theta,\zeta,\vartheta)}: n \to n$ as follows:

$$\mu_{(\xi,\theta,\zeta,\vartheta)}(A_{i,i+1}) = k_i B_{12} + l_i B_{13}, \ 4 \le i \le n-1,$$

$$\mu_{(\xi,\theta,\zeta,\vartheta)}(B_{n-1,n}) = p_2 B_{12} + p_3 B_{13},$$

$$\mu_{(\xi,\theta,\zeta,\vartheta)}(A_{j,j+2}) = k'_j B_{12} + l'_j B_{13}, \ 1 \le j \le n-2,$$

$$\mu_{(\xi,\theta,\zeta,\vartheta)}(B_{n-2,n}) = q_2 B_{12} + q_3 B_{13},$$

$$\mu_{(\xi,\theta,\zeta,\vartheta)}(A_{pq}) = \mu_{(\xi,\theta,\zeta,\vartheta)}(B_{pq}) = 0, \text{ otherwise.}$$

It is easy to verify that $\mu_{(\xi,\theta,\zeta,\vartheta)}$ is a Lie triple derivation and

$$\mu_{(\xi,\theta,\zeta,\vartheta)} = \mu_{(\xi,0,0,0)} + \mu_{(0,\theta,0,0)} + \mu_{(0,0,\zeta,0)} + \mu_{(0,0,0,\vartheta)}.$$

(4) Extremal triple derivations:

Let $m_1, m_2, m_3 \in C$. We define a linear mapping $\rho_3 : n \to n$ as follows:

$$\rho_3(A_{12}) = m_1 B_{12},
\rho_3(A_{23}) = m_2 B_{13},
\rho_3(A_{34}) = m_3 B_{12},
\rho_3(A_{pq}) = \rho_3(B_{pq}) = 0, \text{ otherwise.}$$

It is clear that ρ_3 is Lie triple derivation.

Theorem 2.1 For $m \geq 6$, every Lie triple derivation ϕ of n can be uniquely expressed as:

$$\phi = adx_0 + \eta_{y_0} + \mu_{(\xi,\theta,\zeta,\vartheta)} + \rho_3,$$

where $adx_0, \eta_{y_0}, \mu_{(\xi,\theta,\zeta,\vartheta)}$ and ρ_3 are inner, diagonal, central and extremal triple derivations, respectively.

References

- [1] H. Wang, Q. Li, Lie triple derivations of the Lie algebra of strictly upper triangular matrices over a commutative ring, *Linear Algebra and its Applications*, **430** (2009), 66–77. https://doi.org/10.1016/j.laa.2008.06.032
- [2] H. Li, Y. Wang, Genearlized Lie triple derivations, *Linear and Multilinear Algebra*, **59** (2011), 237–247. https://doi.org/10.1080/03081080903350153

Received: July 20, 2017; Published August 28, 2017